
■ 次の表の空いている部分を埋めましょう。

① 個数 平均 合計

グループA 11.9

グループB 6.5 32.5

全体
(AとBを合わせたもの)

12

② 個数 平均 合計

グループA 2 9.4

グループB

全体
(AとBを合わせたもの)

10 7.5

③ 個数 平均 合計

グループA 3 9.5

グループB

全体
(AとBを合わせたもの)

5.5 60.5

④ 個数 平均 合計

グループA 3

グループB 1.8 12.6

全体
(AとBを合わせたもの)

33

グループごとの平均
年 組 名前

/20



■ 次の表の空いている部分を埋めましょう。

① 個数 平均 合計

グループA 7 1.7 11.9

グループB 5 6.5 32.5

全体
(AとBを合わせたもの)

12 3.7 44.4

② 個数 平均 合計

グループA 2 4.7 9.4

グループB 8 8.2 65.6

全体
(AとBを合わせたもの)

10 7.5 75

③ 個数 平均 合計

グループA 3 9.5 28.5

グループB 8 4 32

全体
(AとBを合わせたもの)

11 5.5 60.5

④ 個数 平均 合計

グループA 3 6.8 20.4

グループB 7 1.8 12.6

全体
(AとBを合わせたもの)

10 3.3 33

グループごとの平均
年 組 名前

/20


